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Figure S1:
of px 7 = corr(X, Z).

&

AUCs of the homoscedastic error model, R?> = 0.1, p = 0.1 and various values
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Figure S2: AUCs of the homoscedastic error model, R?

px.z = corr(X, Z).

= 0.3, p = 0.1 and various values of
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Figure S3: BS of the homoscedastic error model, B2 = 0.1, p = 0.1 and various values of
px.z = corr(X, Z).
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Figure S4: BS of the homoscedastic error model, R?

px.z = corr(X, Z).

= 0.3, p = 0.1 and various values of
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Figure S5: The effect of AV on BS: the homoscedastic error model, R? =

0.5, p = 0.5,

various values of px z = corr(X, Z) and pxy = corr(X,V)



